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<tfroot>

hostname R1
|

interface Seriall/0

ip address 10.10.10.1 255.255.255.252
|

interface Serial2/0

ip address 10.10.20.1 255.255.255.252
!

ip route 10.0.0.0 255.0.0.0 192.168.10.2

! This is the primary route to get to hosts on the internet.

ip route 172.31.10.0 255.255.255.0 10.10.10.2

! This is the preferred route to the LAN

ip route 172.31.10.0 255.255.255.0 10.10.20.2 250



! This is the floating static route to the LAN

R22| EH:

hostname R2

!

interface Seriall/0
ip address 10.10.10.2 255.255.255.252
!

interface Serial2/0

ip address 10.10.20.2 255.255.255.252
1

1
1

10.10.1
10.20.1 250

ip route

ip route
!

0.0.0.0 0.0.0.0 10.
0.0.0.0 0.0.0.0 10.

R12| 2t E H|O|&:

<{froot>
R1#

show i p route

Codes: L - local, C - connected, S - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
E1l - OSPF external type 1, E2 - OSPF external type 2
i - IS-IS, su - IS-IS summary, L1 - IS-IS Tevel-1, L2 - IS-IS Tevel-2
ia - IS-IS inter area, * - candidate default, U - per-user static route
o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP
a - application route
+ - replicated route, % - next hop override

Gateway of last resort is not set

10.0.0.0/8 1is variably subnetted, 5 subnets, 3 masks

S 10.0.0.0/8 [1/0] via 192.168.10.2

C 10.10.10.0/30 is directly connected, Seriall/0

L 10.10.10.1/32 is directly connected, Seriall/0

C 10.10.20.0/30 is directly connected, Serial2/0

L 10.10.20.1/32 is directly connected, Serial2/0
172.31.0.0/24 is subnetted, 1 subnets

S 172.31.10.0 [1/0] via 10.10.10.2
192.168.10.0/24 is variably subnetted, 2 subnets, 2 masks

C 192.168.10.0/30 is directly connected, Serial3/0

L 192.168.10.1/32 is directly connected, Serial3/0

SAENM QB ZAE 10.100.1.12 pingS £&5tT o &8t CHZ ZSEHLICH



<ffroot>
host#

ping 10.100.1.1

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 10.100.1.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 73/78/80 ms

SAENM QEH ZAE 10.100.1.122| Ef|0|AEIR E (traceroute)= CHHS T ZH&LICH.

<#root>
host#

traceroute 10.100.1.1

Type escape sequence to abort.

Tracing the route to 10.100.1.1

VRF info: (vrf in name/id, vrf out name/id)
1 172.31.10.2 1 msec 1 msec 1 msec

2 10.10.10.1 31 msec 39 msec 39 msec

3 192.168.10.2 80 msec * 80 msec

=2 213 10.10.10.0/300| At =lL|C}.

HUSHE EHAESHY| {8 R10IM A2 ZE 1/02 S28 22 R10MH= 2Z LAN
172.31.10.00 £ 58 HX A= E Mx|5l1, R20| M= 0.0.0.0~10.10.20.10]l 5 MM HA=2E MK|
SHoF gFLict =8t ¥ 213 £ 2t Eei=lo] o|s 3l oF FL|Ct.

<{froot>
R1#

conf t

Enter configuration commands, one per line. End with CNTL/Z.
Ri(config)#

interface seriall1l/0

R1(config-if)#

shut down

R1(config-if)#

end



R1#

SHX|TF LAN 172.31.10.0/242| M= A2 = R12| 2t R & H 0|20 §X|=/LIC}.

<{froot>
R1#

show i p route

Codes: L - local, C - connected, S - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF 1inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
E1 - OSPF external type 1, E2 - OSPF external type 2
i - IS-IS, su - IS-IS summary, L1 - IS-IS Tevel-1, L2 - IS-IS Tevel-2
ia - IS-IS inter area, * - candidate default, U - per-user static route
o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP
a - application route
+ - replicated route, % - next hop override

Gateway of Tast resort is not set

10.0.0.0/8 1is variably subnetted, 3 subnets, 3 masks
10.0.0.0/8 [1/0] via 192.168.10.2
10.10.20.0/30 is directly connected, Serial2/0
L 10.10.20.1/32 is directly connected, Serial2/0
172.31.0.0/24 is subnetted, 1 subnets

N n

S 172.31.10.0 [1/0] via 10.10.10.2

192.168.10.0/24 is variably subnetted, 2 subnets, 2 masks

C 192.168.10.0/30 is directly connected, Serial3/0
L 192.168.10.1/32 is directly connected, Serial3/0
<#root>

R1#

show i p route 172.31.10.0

Routing entry for 172.31.10.0/24
Known via "static", distance 1, metric O
Routing Descriptor Blocks:

*

10.10.10. 2

Route metric is 0, traffic share count is 1

R1#

show i p route 10.10.10.2



Routing entry for 10.0.0.0/8
Known via "static", distance 1, metric O
Routing Descriptor Blocks:

* 192.168.10.2

Route metric is 0, traffic share count is 1

S AEQ|ping & traceroute= I 0|4 & &3HX| et &LCt
<#root>
host#

ping 10.100.1.1

Type escape sequence to abort.
Sending 5, 100-byte ICMP Echos to 10.100.1.1, timeout is 2 seconds:

Success rate is 0 percent (0/5)

host#

traceroute 10.100.1.1

Type escape sequence to abort.

Tracing the route to 10.100.1.1

VRF info: (vrf in name/id, vrf out name/id)
1 172.31.10.2 1 msec 1 msec 1 msec

2 * K %
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<#root>

R1#

conf t

Enter configuration commands, one per line. End with CNTL/Z.
R1(config)#

no ip route 172.31.10.0 255.255.255.0 10.10.10.2

R1(config)#

ip route 172.31.10.0 255.255.255.0 Serial1/0

R1(config)#

end

<ffroot>
R1#

show i p route

Codes: L - Tocal, C - connected, S - static, R - RIP, M - mobile, B - BGP
D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF 1inter area
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2
E1 - OSPF external type 1, E2 - OSPF external type 2
i - IS-IS, su - IS-IS summary, L1 - IS-IS Tevel-1, L2 - IS-IS Tevel-2
ia - IS-IS inter area, * - candidate default, U - per-user static route
o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP
a - application route
+ - replicated route, % - next hop override

Gateway of Tast resort is not set

10.0.0.0/8 1is variably subnetted, 3 subnets, 3 masks
10.0.0.0/8 [1/0] via 192.168.10.2
10.10.20.0/30 is directly connected, Serial2/0
L 10.10.20.1/32 is directly connected, Serial2/0
172.31.0.0/24 is subnetted, 1 subnets

N n

S 172.31.10.0 [250/0] via 10.10.20.2



192.168.10.0/24 is variably subnetted, 2 subnets, 2 masks
C 192.168.10.0/30 is directly connected, Serial3/0
L 192.168.10.1/32 is directly connected, Serial3/0

Ol EAENM QR A

<{froot>
R1#

show ip route 172.31.10.0

Routing entry for 172.31.10.0/24

Known via "static", distance 250, metric O (connected)

Routing Descriptor Blocks:
* 10.10.20.2

Route metric is 0, traffic share count is 1

<tfroot>

host#

ping 10.100.1.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 10.100.1.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 76/79/80 ms

host#

traceroute 10.100.1.1

Type escape sequence to abort.

Tracing the route to 10.100.1.1

VRF info: (vrf in name/id, vrf out name/id)
1 172.31.10.2 1 msec 1 msec 1 msec

2

10.10.20.1

38 msec 39 msec 40 msec
3 192.168.10.2 80 msec * 80 msec
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